[ > restart:
> wth(linalg):
Warni ng, the protected nanmes norm and trace have been redefined and
unpr ot ect ed

> A=matrix([[1,sin(0),cos(0)],[1,sin(4*Pi/12),cos(4*Pi/12)],[1
,Sin(8*Pi/12),cos(8*Pi/12)],[1,sin(12*Pi/12),cos(12*Pi/12)], [
1,sin(16*Pi/12),cos(16*Pi/12)],[1,sin(20*Pi/12), cos(20*Pi/12)
11): B:=transpose(A): X =matrix([[c],[a],[b]]):

L Y:=matrix([[1.0],[1.6],[2.4],[0.6],[0.2],[0.8]]):

[ > eval n( A) *eval m( X) =eval m(Y);
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> evalmMB) * evalmMA) * evalm(X) = evalmM(B) * eval mY);
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> eval m(B& A) *eval m( X) = eval m( B&Y)
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> solve({6*c = 5.6, 3*a = sqrt(3), 3*b = 0.8}, {c,a, b});

L {€c=.9333333333, a =.5773502692, b = .2666666667 }
[ > y=(14/15) + (sqrt(3)/3)*sin(2*Pi*t/12) +
(4/15)*cos(2*Pi *t/12);
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